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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2016

STD: VI g € ar
Roll No.

Date of Examination : 07 February 2016 Sunday
Time : 10.00 AM to 11.40 AM

grerAtard IIAT / Guidelines for the Candidate
1. YA ATART d IRETT $HHATRRT 3cdl e ASear @HE & €ardr.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge goargdl faegnedien carear dqot g @ sogrardr 30 fafae e 9 dvard
RECE

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYRTARHET THFUT 100 TR& I Tcdh JRAIST 2 0T 3R,
This question booklet contains 100 questions each question carries 2 marks.
4. I 9T ASA0T 9TF 3R, Tl SccRTagel fAasTeledT 0T gwcveué‘l YR I[0T TSIl shel
SAUIR TSN
All questions are compulsory. There is no negative marking.
5. 3NUcAr FEITE TRAYREHT [ASIeardr TET Seal el
Check to make sure that you have received the appropriate test booklet for your standard.
6. UIATATHEY Shddd Thd Jcadl SIS 3R, U Scaidrdr Tehd gy fagsmEr.
There is only one correct answer. Choose only one option for an answer.

7. 3T 9AT EIAUIATATS! hdes hIdl/ [T TIET STeldaTd a3,

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg.
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........ccceeeveerreecnennne To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x . @ @

To option a) in the Answer Sheet

8. URET HUGATEX THH ScckuiIenl THAETHHS Tl .
Return the Answer Sheet to the invigilator at the end of the exam.
9. 3Mue URET HHAih TRAYRdHaY FeaT ToIgrdl d Hel TRAYEcehl TRET Hrellatheic] 3TedT Fied =T

Write your Roll No. on the Question Paper too and take it home for future reference.




‘¢TI IT QUeeTar FATATAT 2leg HIoTAT?
A) gIYTr B) U C) &R D) q¥

Grellel AscHHGIIE S Teh Usq AT,
UhITHT GIUTR HIST Gl :
A) 3cshidr B) TS c) fasmer D) idT

Grolrerdehr A ASS, FHIVTAT?
A) T B) dehloir C) SsTfasT D) ®HAC

Greliel Fguli=T A9 37 Hordar?

chl@ld oo dl, dlidlell daddl -

A) FIT HBA GFeT IMATERI IT0TGSIATGX SAT0T.

B) IMAX fh&eT Jor

C) MIM FBMaT FIETOT

D) uifgst off a¥q Tad:Slaes HeTar HaF e o

Tl ahYaRET AT 372 SHIoTdar?

Jdhedld Js0r
A) FiereseT SIToT B) UTOATA YSUT
C) aTer grov D) UTOATd Jahesor

GTelolthl Tehadeil e INBET.
A) 13 B) WS C) a8 D) W13

il RIT o STAAS $dl. IT rerIrel TR 3iesgT.

A) had aFT B) TYFd dTFy

c) Ay g D) ITYHr TEY

Choose the correct article to fill the blanks

Alexander Pope said that honest man is noblest work of God.
A) the, the B)an, a

C) an, an D) an, the

Fill in the blanks with the suitable conjunction from the option given below.
| know, Shreyash is true to his words.
A) So that B) That C) As for as D) So as

——
=
| —



10.

11.

12.

13.

14.

15.

16.

17.

18.

Choose the correct passive from the option given below.
English all over the world.
A) soke B) is spoken C) speaks D) is spoke

Choose the best word to complete the sentence.

How long out of town?
A) has been B) has they been
C) has he been D) has | been

Find out the odd alternative from the following.
A) move B) bring C) stop D) table

Which of the following alternative is wrong one.
A) He is reading a poem

B) They are reading a poem

C) I am reading a poem

D) She are reading a poem

Choose the correct antonym of the following word.
Turbulent

A) Fresh B) Happy C) Uncritical D) Quiet

Mark the verb among the given options.

A) Name B) Nominally C) Nominate D) nominal
SETER gaT gid.

A) GIC B) IRA C) T D) g

Air becomes depending on the height.

A) Dense B) hot C) thin D) thick

I AT Felolell 3772

A) ded T B) 3ifddcd arg

) fazsor ga D) AT A, BT C
Sun is made up of what

A) Hot Solid B) Extremely hot gases
C) Extremely hot liquid D) Option A, B, & C

Feuuft gaeadt Siurcar Aafie yeena Mesdra?

A) FET TR IS B) HHTAAISUT IS Weem
C) AT T D) favageda veer

The broad-leaved plants are seen in which natural region?

A) Mediterranean B) Temperate grass lands

C) Monsoon D) Equatorial
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21.

22.

23.

24,

25.

26.

ST YEIolded Ul Widerd AlS TS el ?

A) BIEhe B) dis c) ufas @ D) @fasr a«
In Gaza strip which big deposits of minerals are found?
A) Phosphate B) Copper C) Potash D) Mineral Oil

geder Teccard Heledl ¥4 Holldlel! el $ET ForoTd

A) efremaroT B) STelTaXuT C) gaTaxor D) Sfiaraxor
The area occupied by the living organism on the earth is the
A) Lithosphere B) Hydrosphere C) Environment D) Biosphere

AGIENER gdid o8l 3Te.

A) dfafthe B) fgdr C) 3caies D) 3R
On earth which is the smallest ocean?

A) Pacific Ocean B) Indian Ocean C) Atlantic Ocean D) Arctic Ocean
golaTad olih Haal g T il YTfHeh TADAT Ae drd.
A) 3ol G B) AT

C) IFeTHT D) §oRd &l

Many of the pilgrimagar visit mecca and

A) Al Damman B) Medina

C) Jaslamer D) Hajrat Bal

SEASA dl USTHTAT HIUTAT?

A) SIEHHT B) SiSeT C) BT D) IAA
Which is the capital of Israel?

A) Jerusalem B) Jordan C) Haifa D) Yeman

qIgeTd HRATHEY HITdTT?

A) HICER B) ¢leXdaR C) fAeNeER D) 3ter afewsrd
Air is expressed in what?

A) Meterbars B) Literbars C) Millebar D) °C

gfgoT aereTdler Iata ASr T HIoTdr?

A) 22 AT B) 23 TR C) 21 ST D) 23 3iTFele’
On which day it is the longest night in the southern hemisphere?

A) 22 March B) 23 September C) 21 June D) 23 October

Glolleldeh! ATaoaT Sifdss g HioTar?

A) gdr B) GTUfY C) AT D) TeTEqdr
Which one of the following is biotic component of the environment?
A) Air B) Water C) Sail D) Plants
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28.

29.

30.

31.

32.

33.

Grelledehl arY YGUUIH STETEER e HIUTdT?

A) dTget B) 3T C) TeTETdT D) A 3MTTOT B
Which one of the following is a factor of Air Pollution?

A) Vehicles B) Industries C) Plants D) Both A and B
ATCTUFITER 3Tdo1s HIHT GATIUIATHTS! ATORUITT JUTRAT IR 1 VAT Tellol&d
qreld?

A) TocdrT B) €T C) IIfAH D) gshry

The cranes in good yards is used to lift heavy loads?

A) Gravitational Force B) Frictional force

C) Mechanical Force D) Magnetic Force

Grellerdehr faegd argeh HIoT?

A) FETE B) Tellkeah C) oS D) AT ATET
Which one of the following is a conductor of electricity?

A) Paper B) Plastic C) wood D) none of these
ATeTdT RNTA HAMS 3.

A) 1 B) 3 )2 D) 4

How many kidneys a human body consists of?

A)1l B)3 C)2 D)4

HFHE HIOTCAT HEATT AT 3Ted?

A) TTITEEAT B) HooITEEAT

C) TFATTHEIOT FEAT D) eTHATET

Lungs comes under which one of the following systems?

A) Digestive system B) Nervous system

C) Circulatory system D) Respiratory system
e 99T fasr.

p) omm far B) #ATer C) dg D) g&
Find the odd man out.

A) Bulb B) Torch C) Moon D) Sun

Grelledeh! ITEEehId Terd HIuTcT?

A) &g B) s ORGET D) FidTec
Choose the non-magnetic material from the following.
A) lron B) Copper C) Nickel D) Cobalt
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35.
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40.

GTellel AT AMIT HH oITdT.

1.8 2. T&T 3. @relr

5. Siegr

A) 3,2,1,4,5 B)3,1,4,2,5 C)3,1,2,4,5
Arrange the given words in a meaningful sequence.

1. House 2. Street 3. Room

5. District

A) 3,2,1,4,5 B)3,1,4,2,5 C)3,1,2,4,5

Nde @ e 3nfor Sed @ ooy el @ ?

A) IdHR B) Halgd
C) WIg, FIeat, HIfATH

Brass : Copper and Zinc :: Stainless Steel : ?

A) Shining B) Strong
C) Iron, Carbon, Chromium

Fgera vt fAgsr.
A) HAMS B) BUHH C) cadr
Find the odd man out.
A) Kidney B) Lungs C) Skin

HaTd AT dTYATT HIUTAT JETa] 32

A) IU B) Y C) gzt
Which planet has very low temperature?

A) Mercury B) Venus C) Earth
M.K.S. Igcirel ggdr HET FEUTdrd.
A) AR B) STITHTY C) S.l.
The M.K.S. system is also called as unit.
A) International B) Standard C)S.I

500 37TfOT 200 AT &l TEITALST T fohclT?

A)C B) CCC C)D
Difference of 500 and 200 is
A)C B) CCC C)D

SR a=b3Ad dl a+x=

A) b +x B) bx C) b—x
Ifa=b,thena+x=
A)b+x B) bx C)b—x

4. AT

D)3,1,2,5,4
4. Town

D)3,1,2,5,4

D) oNg, hIadd, o, Hifdas

D) Iron, Carbon, Nickel, Chromium

D) T&Hd

D) Liver

D) AYTYT

N

D) Neptune

D) dfash

D) Universal

D) MMM

D) MMM

D) b =+ x

D) b +x
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42.

43.
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45.

46.

qrsar
0.001+1+0.01+1=

A) 2.142 B) 2.011 C)2.9 D) Irdhr AATET
Simplify :

0.001+1+0.01+1=

A) 2.142 B) 2.011 C) 2.9 D) none of these

625 TAT TIHBA qd‘lagoo hICT.

A) 25 B) 15 )5 D) 17
V625 =7
A) 25 B) 15 )5 D) 17

c.gr.e.Q. 15 &le 2200 TYATT 5 NI TlsedTsT 37107 2400 FUIAT 4 U IS
A T fohdl ?

A) 210% B) 230 ¥ C) 240 ¥ D) 260 ¥

Find the difference between simple interest on Rs.2200 at 15% P.A. for 5 years and on Rs.2400 at
15 % P.A. for 4 years.
A) Rs 210 B) Rs 230 C) Rs 240 D) Rs 260

Tehl udlqu“lti UhUT JS&hed 150 L.8HT 3Teard o gave fhdl?

QN C

A) 75 .87 B) 125 T.H.HT C) 250 T.H.#T D) 150 O.H. 7Y

The surface area of cube is 150 Sq.cm, find its volume?
A) 75 Cubic cm B) 125 Cubic cm C) 250 Cubic cm D) 150 Cubiccm

Ush R 4dEd 244 fReAT 3aX #1990 R FRAT 0T fhdr?

A) areft 61 foraT B) drefr 60 et

C) arefr 70 fhat D) arefr 30 ey

A Car covers a distance of 244 Km in 4 hourse. Find the speed of the Car.
A) 61 Km in one Hour B) 60 Km in one Hour

C) 70 Km in one Hour D) 30 Km in one Hour

SR P=-2,Q=-130T r=3,adA P2 + Q-3 =?

A) -22 B) O C)-4 D) 6
IfP=-2,Q=-1andr =3, find the value of P2 + Q2 -r3 =?
A) -22 B) 0 C)-4 D) 6
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Teh HIH OIS 12 ATVTHEAT 18 fead SmTdrd. o o Se quT FROAMES 8 ATUTHTEAT
fohchl feaw amrcier?

A) 12 T B) 27 feaw C) 10 eaw D) - feaw
If 12 men can do a piece of work in 18 days in how many days will & men complete it?
A) 12 days B) 27 days C) 10 days D) - days
Hisar/ Solve
2x+7 _ 5x+4
3 5
5 23
A) B) < 01 D) -

35 AT BT 3rTeen qd;oolt] ATPhB HIET?
A) 3675atfAe  B) 3gsoTfAFT ) 1225 St AT D) 4goo =t fAF

Find the area of the circle having radius 35mm.
A) 3675 Sq.mm B) 3850 Sgq.mm C) 1225 Sg.mm D) 4900 Sg.mm

7:4=21:xa% xdr fFAd Hd?

A) 18 B)12 C) 40 D) 16
Findxin7:4=21:x
A) 18 B)12 C) 40 D) 16

45 GEATT Fofel 18 Tohell 31Tel o 4000 fehell &THAT 3HIeAT goh HEF THUT fohell geadn
ST,

The weight of 45 chairs is 18 kg how many chairs can be loaded on a truck having a capacity of
carrying 4000 kg load?
A) 500 B) 4500 C) 1000 D) 10,000

fAfrara g fa<ar e daar garear fAudidet 6 &t 3me. Afhar a 2199

3, R a=ar a8 AEa g fhdr av 3er?

A) 9 B) 5 C) 13 D) 15

The age of Nikita is 6 years less than the 3 times of her younger brother, if the age of Nikita is 21
years, find the age of her brother?

A)9 B) 5 C) 13 D) 15

GToTTUhT hIUT ITAT HSTolT Ter?

INREIGEH B) ST C) A g D) fegar
Who among the following was NOT a contemporary of other there?
A) Milinda B) Prasenijit C) Gautam Buddha D) Bimbisara
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55.

56.

57.

58.

59.

60.

3reemEy’ ol fafger?

A) 3 B) AU C) arcardst D) aREIARRY
Arthshastra was written by
A) Aryabhatta B) Chanakya C) Vatsyayan D) Varahmihir

qreegT ol TUTIAT Hiofr FHelr?

A) 372N B) 3&Tel C) fafear D) elTeleh
Who founded Patliputra?
A) Ashoka B) Udayin C) Bimbisar D) Kalashok

HITY AT Gigel T SHoTdr gar?

A) 9T B) aRATelr C) drcelig D) TR
Which was the first capital of Magadha?
A) Champa B) Vaishali C) Pataliputra D) Rajgriha

TS [T aURT ARAT ST Wlellcldeh! HioT giar?

A) AR B) Hga[ed C) T~ D) &ATeIG
The Indian King opposed Alexander was?
A) Porus B) Chandragupta C) Pushya D) Dhanananda

gaoq H’chﬂw Qe ol SITaaT?

A) GIRTH Tl B) T TS gers
C) <&1.TH.373rarel D) #SH T.UA.

Who discovered the Indus valley civilization?

A) Dayaram Sahani B) Sir Leonard Wooley
C) V.S. Agrawal D) A.L.Bhsham

PIUTT 3G ESOUTTIT JHARAIHET dleld 3 TA?

A) g 0T B) @us fquroy

C) IIs Tarfaor D) ¥4 YA RIS

In harappan settlements which were large scale industries?

A) Spinning yarn B) Weaving

C) Dying Clothes D) All are right

ST T AT 3clelelld HTSelel I aifgcanel gsdregeT qgra
IEIGIGH

A) Hifas B) Hif@=+ c) fof@a D) ok

It is necessary to verify the excavated evidence with the help of

A) Material B) Oral C) Written D) Folk
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62.

63.

64.

65.

66.

67.

68.

QT oeTolel RATATSl Ufgel AT HIUTA?

A) TAR B) feeell
The earliest city discovered in India was?
A) Rampur B) Delhi

Jaca ANIFHT FHIoT gA?
A) HHR B) fagry

Name the last Tirthankara?
A) Mahavira B) Siddhartha

QuilE TJT A HI0TcdT Tl 3T87?

A) FEIYSA B) 3¢ WeRr

Great stupa at Sanchi is in?
A) Madhy Pradesh ~ B) Uttar Pradesh

Ry’ IT el Asc2m: 3 HIoTar?

A) gHfIeR B) facare
The literal meaning of the word Arya is?
A) Priest B) Learned

AcTEleT HIOTAT SATT 3R ?

A) STOT B) 3freeforar
Melbourne is located in which country?
A) Iran B) Australia

C) gsour

C) Harappa

C) GTRTTY

C) Parasvanath

el el 8T WTg ol Wosrll Faftrd 31g?

A) fohhe B) Pedicl
Rafael Nadal is related to which sport?
A) Cricket B) Football
SeTfae gaTaReT fget Frorar?
A) STef 1 B) SI=T 6

) LN
World Environment Day is celebrated on
A)July 1 B)June 6

qed Halld ATdes HTERUT HIUTT?

A) &ad B) AR 2T
The thinnest layer of earth is
A) Crust B) Landmass

D) Higollgsr

D) Mohenjo-daro

D) YA

S

D) Subhadra

C) gxJmom D) foerR
C) Haryana D) Bihar
C) aAreer D) HIASS
C) Warrior D) Superior
C) heTaT D) I
C) Canada D) France
C) Scffes D) ¢l
C) Badminton D) Tennis
C) SR 5 D) [ 5
C) January 5 D) June5
C) D)
C) Core D) Mante
( )|
t ° )
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70.

71.

72.

73.

74.

75.

76.

HiTATPTeh =T Caellal T fohell wsh 3Ted?

A)4 B) 5 C)6 D)7
How many rings are on the Olympic flag?
A)4 B) 5 C)6 D)7

3AHTRATA SIUTRT Gfgell HIUH HIoT?
A) foResT feeteg B) I MRt C) 33T f[Aelecg D) Udel Ubleed

Who was the first man in space?
A) Gherman Titov  B) Yuri Gagarin C) Andrian Nikolayev D) Pavel Popovich

qedT TGN AT HIoTedm fGds e

A) UREASZ Jdehs B) Jdehgel UfRuASS
C) GfEToIehgeT 3cdiens D) ITdhr ATEYr

In which direction does the Earth rotates on its own axis?

A) West to East B) East to West

C) South to North D) none of these

ST Fald ofid sId HIuTar?

A) I@T ST NGIERGE C) 3¥AsIeT D) fATATAT
Name the longest river in the world?
A) Ganga river B) Nile River C) Amazon D) Missisippi

fQrgcsa ave HIvTaT W &g 3mg?

A) PedTe B) forehe C) AT D) §sffceT
Wimbledon Trophy is associated with which Sports?
A) Football B) Cricket C) Tennis D) Badminton

STaTTel TeRUT fohell WS 3MMEcl?

A) 5 B) 6 )7 D) 11
How many continents are there in the world?
A) 5 B) 6 )7 D) 11

auTaT fohdY A=A 28 fegw 3r@ara.

Al B) 7 C)6 D) 12
How many months have 28 days?
A)1l B) 7 C)6 D) 12

Tl 2015 AT AT HPEGH JIEHR HIVTH STER STl 38?2

A) 3RUT TURT  B) 3IUT AT C) 30T WS D) 0T ARR
Sahitya Akademi Award 2015 is declared to
A) Arun Khopkar B) Arun Sadhu C) Arun Khade D) Krushn Nayar

10
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78.

79.

80.

81.

S Mg HERTSTY STeHdNd HUTa?

A) HET B) Ric@sram C) qoY D) 9IS
Which is the birth place of Chhatrapati Shahu Maharaj?
A) Kagal B) Sindkhedraja C) Pune D) Pachad

IMATdTel Tcdeh ARTRERIT HIOTAT STofig AT el arfgat?
A) AT [ahT TR el difgat
B) JIMaTdT fahr 3TIUT &

C) IMATd &% §&T STelrg grfgat

D) IMad EgTodr 319ral.

What should the every citizen feel about their village

A) The development must by made by Government?

B) They can bring about the development of their village.
C) In village there must be prohibition of alcohol.

D) The village should be kept clean.

HAGRTST FAGHTAT geFeh FlTaed o a5 Shell gifger
A) 3T 3HGARTT B) IIIT 3HGARM!

C) 9= 3HGART D) 39&T 3HGART

Each voter must exercise his right to vote & elecet the

A) Unqualified Candidate B) Right Candidate

C) Parties Candidate D) Independent Candidate
TIAT HRAR Gigel TRISCHAT HI0T gla?

A) STATEIeTe Ag® B) [eTST{IeITeT e

C) ol Sglgy ATEAT D) SiieT HAS

Who was the first foreign minister of free India?

A) Jawharlal Neharu B) Gulzari lal Nanda

C) Lal Bahadur Shastri D) John Mathai

HRATS TSET BB 10T ?

A) 3TET B) WG C) & D) &t
is the national fruit of India.
A) Mango B) Apple C) Orange D) Water melon

11
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82.

83.

84.

85.

fagaTa 3mepdr 3iear.

Choose the odd one out

) B B\ )

A) B) C) D)

3
£

C) D)

Identify the water image of the figure

B)
Question Figure Answer Figure
i oy |
3 E\ m
| |
B)

€|

|

A) C) D)

SR P=6, J=4,1=8 30T M=243TTdTel dT M + LxJ+P=?

A) 16 B)O C) 36 D) 18
If P=6, J=4,l=8 andM=24thenM = LxJ+P="?
A) 16 B)O C) 36 D) 18

Grellel TR&ATd Gigedr Yerar ga=ar Yerll  STEr Heer 377g, dard daY faa=ar geren
MeAr yereht 3 IraweT yea Regrear Sreh v AT 9T [gEr.

In the question below the relation between the first term & the second is the same as it is between
the third and the fourth term taking this into consideration which alternative will come in place of
the question marks?

CAT : HFY :: ? : HXY
A) CST B) CQT C) DTT D) DST

12
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86.

87.

88.

89.

90.

SR BB o6kl ?
= @ s :‘@‘

A) B) C) D)

FGrellel 3MMehcllcd THOT fohcdT FHI0T 3Med?

How many triangles are in the figure given below?

A) 14 B) 10 C) 16 D) 15

JRATegredT P YUT=AT eRMAr 94 fAaasr.

TS, QP, NM, KJ, ?

A) HG B) IH C)IG D) GH
Complete the alphabet series by using correct option.

TS, QP, NM, KJ, ?

A) HG B) IH C)IG D) GH

fagera 3mehdhr faast
Find the odd figure

e e |

'O O O
& :/_}1 Bl Wi L i
A) B) C) D)

Geread a7 1299 37Tg. ITel SEI0T ITSATIET 5 asis AN 3Tg. Fereear 3y aFf
gera=r afguiiear aarear guél UaT 3 A ST 3Te oY HErHd! 1S Ferd el adme

fordl auier A 3mg?
A) 20 B) 15 C) 25 D) 22

The present age of Suhas is 12 years.His sister is elder than him by 5 years. His mothers age is 3
years more than twice of his sister’s age. Find how many years Suhas’s mother elder than he?

A) 20 B) 15 C) 25 D) 22

13
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92.

93.

94.

95.

Grellel HTehlld ThoT fohell Tlehler 3Mger?

Count the numbers of square in the following figure

A) 8 B) 12 C) 15 D) 18

R egrear f&aoft T 376 ASaT?

Which number will replace the question mark?

36
49 25
5 7
?
A)6 B) 4 C)3 D)9
faera 9o foasr
A) feoelr B) @hleTehdl C) Aeels D) JTar
Find odd man out
A) Delhi B) Calcutta C) Channei D) Goa

HRC, AGRISE T ST I € HIOTAT def 3HThclled eQarel?

Which of the following diagrams indicates the best relation amongst India, Maharshtra and world?

o ¥ © ax

A) B) C) D)

1¢eT = fSFded.

A) 10 B) 100 C) 1000 D) 10,000
1ton= Quintal

A) 10 B) 100 C) 1000 D) 10,000

14

——
| —



96.

97.

98.

99.

100

e 9T 3Near.

A) &I B) TolllEceh C) T D) AT
Find the odd man out
A) Glass B) Plastic C) Silk D) cement

QreiTeT IeTellel o S[BUTRT TEIAT HIoTdr?

A) 5075 B) 3714 C) 4060 D) 3045
Find the odd man out
A) 5075 B) 3714 C) 4060 D) 3045

TRaTeaT e gl feaanydt Waar aig 29 S8R, o TRaredr Teh fgaq 9& shiordr
all@ 9 ar 3 ?

A) 6 JTAART HHIR B) 8 SIHART IdaR

C) 6 STAART IAAR D) 5 TAaRY If@aR

Two days before a day before yesterday was Sunday 29t December. Then what will be day and
date, after 3 days?

A) 6™ Jan Monday B) 8t Jan Sunday

C) 6% Jan Sunday D) 5™ Jan Sunday

WY FA TUTER U

A) TagreT B) eI C) aragl D) ailel 9
Which of the following are the properties of air?
A) Tasteless B) Colorless C) odourless D) all of these
GTelleldehl RGeS Tgrd Shiorar?
A) RS B) Uclel C) Sidar D) 9roufY
Which one of the following is a transparent material?
A) Wood B) Petrol C) Coal D) Water
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